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1aFgH &4 5,700 5,700 0
1. AL 5,700 5,700 0
1. AF-BRALE- 4,800 4,800 0
1. 9RkG=8-] 200 200 0
2. W5 4,600 4,600 0
2.37 7+ 900 900 0
1. d9kEgH 900 900 0
2. A =LA 24,740 20,740 4,000
1. ARG GA = 12,000 9,000 3,000
1.3 2,000 2,000 0
1. &g ) 2,000 2,000 0
2. QA NFFH T (F4) 7,000 7,000 0
1. 0529 H 7,000 7,000 0
3. PSR A A - (54) 3,000 0 3,000
1. 0520 3,000 0 3,000 ging_%)wg}g%% © 300,00091+10 3,000,000
2.3t alE ok 11,740 11,740 0
1.qbd ket w A % 100 100 0
1. 25 100 100 0
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3.8t uQk A 7 o] & (54 6,720 6,720 0
1.9 6,720 6,720 0
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1. 08890 2,000 2,000 0
3. 8HAIh A LS 1,000 0 1,000
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1. 9RkG=8-] 3,844 3,844 0
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